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Topic:- Child Development & Pedagogy (CDP)

1) Bipolar disorder is which type of disorder? /

Ry fRAeR (Euw fEwiid) fFa voR o1 fieR &2
1. Mood / FHIGRI (43)

2. Learning / it

3. Personality / Hfgad

4. Thought / faar (e

Correct Answer :-

+ Mood / HHIGRT ()

2) Which of the following best describes the Theory of Mindset? /

FrafafEa & & oF-a1 amRea & Risia $1 9ad <ot qufF wear 82

1. Fixed mindset stops cannot be changed / RR g favm (ﬁv_tﬂg B2 ST (o E'TEI) ] Saal o i Fadl %I
2. Fixed mindset only brings failure / fRRR gHRy®r (ﬁfﬂg 'FTIE%@'C’) B TG <l %I

3. Growth mindset defines Intelligence / Wig ARG, TG Bl TR HaT 2|

4. Growth mindset sees failure as a minor stumbling block, an opportunity. to improve andsgrow. /Fﬁ?{ﬂﬂﬁlﬁ, Wmﬁwnmﬁwa?%wﬁ
TG B, GURA 3R [aepid 81 1 SiaeR T B

Correct Answer :-

» Growth mindset sees failure as a minor stumbling block, an opportunity to improve and grow. /Eﬁ—éﬂﬂﬁﬁ_cﬂ, &wﬁwmw%wﬁ
Tl B, GURA 3R fasRid 819 &1 3raaR T 21

3) Which of the following is a social-learning theorist? /
frafufaa & & $17 ve amfe-Rien Risia 82
1. Bandura/ SigXT

2. Freud/ ThIIS

3. Wundt / gUc

4. Pavlov/ UTdAd

Correct Answer :-
« Bandura/ g1
4) Ruhi; an 11-month-old child calls every white liquid object as milk. Which

element of the concept development process is shown by Ruhi?/

%ra;nnﬁﬁaﬂﬁh%sﬁ?agmmmaﬁaﬁgﬂm%lwmwmﬁmmmaﬁﬂmmwwmw

1. Analysis / fa=asor


Lenovo
Stamp

Lenovo
Stamp


2. Abstraction / GHﬁW

3. Generalization / JHFIH U]
4. Experience / 3{JHd

Correct Answer :-

« Abstraction / HWUT

5) Learning is generally considered a lasting change in behavior based on:/
HrTa: S, e 1R sneia SR # T Rt ufvad= AT ST 8
1. Challenge and reinforcement / @ﬁﬁm IR ﬁ?m

2. Challenge and experience / ﬂ:hﬁl'q'[ 3R 3Hd

3. Practice and experience / 3T 3R 3JHg

4. Practice and challenge / ¥ IR ﬂT‘ﬁﬁ'qT

Correct Answer :-

 Challenge and reinforcement / g'_‘ﬁﬁltﬂ IR g%’a"rwm

6) The concept of “inner speech” was introduced in language development by: /
YT & fApTd ® “3fiaf¥e HIWur” S RN 3% gRT ARY $t 718 A
1. Piaget / ot

2. Chomsky AR

3. Vygotsky [ATSDT

4. Skinner /RFTR

Correct Answer :-

» Vygotsky (ATIEDT

7) Algorithms and Heuristics are the strategies of

|

Fod IR (Teifan) ofi odwor (ggffeaw)_ &t voriferai 81
1. Teaching / TRI&OT

2. Problem Solving / JHIT JHTYTH

3. Learning / 3T&TH

4. Thinking / fda=

Correct Answer :-

« Problem Solving / THIT JHTYTH

8) Which of the following statements is true? /

e d s aTsE a2

1. Growth is only a mental process / 3f& Had T ARG Uihar g

2. Heredity doesn’t affect the learning process. /3MaifRIedl, TRRTH Ufshar T yafad el Bl 21

3. Development is only a quantitative process /[d@T, Had U TR UihaT gl



4. Learning is a process of behavioral changes / ST ATagIRS URadHl &t ufhar 3|

Correct Answer :-

« Learning is a process of behavioral changes / 3{TRTH HTgTNE qRadHl &1 Ufshar |

9) The ability to apply a given general principle to a particular situation is called ./

ot famiw afvfRufar & faedt fow o wmm=a R &Y @] & ot grar &1 PEISAT 8l
1. Inductive reasoning / 3 THT L2

2. Exceptional reasoning / MUarfe® adb

3. Deductive reasoning / IBUEEKED

4. Logical reasoning / e ab

Correct Answer :-

« Deductive reasoning / IBUEEKED

10) What form of learning is displayed when children imitate the violence they see in their favourite video games? /

SR BT P 1 9 YR 31§ 7 = I fF1 3 Thet Sara § it F Sru uedier difEa) A9 A qwa §2
1. Operant learning / foaToRIA SHfeTH

2. Observational learning / 3fadid SHfUTH

3. Conditional learning / 3fsifId SHferTH

4, Latent learning / 3foTcd {fRATH

Correct Answer :-

» Observational learning / St T

11) What involves the repetition of information so that it moves from the short term to the long term memory? /
a1 B GARIgHT & 1 ARl § a1 a8 ag-oraiie | S-Prelie Wi 9% 9a?

1. Coding / @_C'WW

2. Rehearsal / EE‘T'EIW

3. Chunking / ©fd

4, Storage / G-UGU

Correct Answer :-

» Rehearsal /Q@TW

12) Differences in behavior between two cultures can be attributed to: /

3 Twpfaul & St agR # e & 1T 39 IRerd! AT o AHdT &:
1. Geographical background / Wq@ﬂﬂﬁ
2. Socialization /FHTSIHOT

3. Heredity/3{Td R

4. Environment / dTdTdR0T

Correct Answer :-



« Socialization /AHTSIEHRTT

13) Piaget developed important stages of cognitive development. /
A AdTAee e ®  "gayul 911 [aefie e

1. Five / UTE

2. Eight / 3{l6

3. Four /dRR

4. Three /<

Correct Answer :-
e Four/dR

14) TItis easier to deal with all social situations, if you are aware of your ./ Tt wrfore fRufaat | fAaer smae %, gfe 3y 3 - &
TRA A B

1. Interests / ESEL]

2. Talents / Eﬁ'q}f

3. Personality / fddd

4. Hobbies / e}

Correct Answer :-

« Personality / fadd

15) IQ scores are generally
AR R NZF WR B 0EL Qe yea S Ay Geuaefaad el
1. Least/H

2. Highly / 3fcfeid

3. Moderately / 9999 &0 J

correlated with academic performance. /

4. Perfectly / @ GRS

Correct Answer :-

« Highly / 3fde

16) Which part of the brain is responsible for thinking? /
AKTS BT P14 A1 U & & frg iR g2

1. Medulla / AT (e

2. Limbic system / W@Wﬂqaﬁ (f%’lﬁib_ m

3. Cerebellum / 3‘@%@ (@ﬁv_ﬁq)

4. Cerebral cortex / THTSH dedpc (@W W\ﬁ?\q)

Correct Answer :-

« Cerebral cortex / TR dedpc (@W ﬁ?ﬂ)

17) Which of the following is a part of our working memory? /

frafafad # & 919 s9r srdha wia o1 we R e



1. Central executive / 5T BB

2. Declarative memory / STSUITA® Wl
3. Semantic memory / Xsaref Ffd

4. Sensory register / Fagt Aorex

Correct Answer :-

« Central executive / HET BRIBRT

18) Which of these classroom practices may undermine pupils’ motivation at school? /

T8 A BH-Q e P g femery & faefial 3t ion @) o0 o Todt @2

1. Teachers fail to notice students’ difficulties for remediation / FR1&f® gRT faenfia @t wfE=eal &1 e HA & oy I g § SRyt d X8|
2. Teachers grade pupils’ competence as high / fR1&ie gRT faeniat &t avgar § &ifde I8 3

3. Teachers encourage low performing learners / fR1&f@ GRT 5 UGR &= a1al SR dlsll o1 Uieifed &vap

4. Teachers judge high achievers as excellent in high academic standard / RI&/@ GRT 3= A&ifOIE TS & IFHFA & T4 & I JUaied W B ardl
STl BT

Correct Answer :-

« Teachers fail to notice students’ difficulties for remediation / RR1&iep gRT fa=nfia &) wfg-Tgal &1 FgM B & forT I UgamH H 3thd &

19) Which are the two Associative Learning theories? /

3 wgantt sftrm Riia #1938 82

1. Classical Conditioning and Operant Conditioning / R 3fdYT @FITW ao—eﬁwﬁrr) 3R guHTdt 3dYT (3ﬁlﬁ_c' WT'EFT)

2. Classical Conditioning and Oppressive Conditioning / IR \?FJ,H?FT (W ﬁsﬂﬁ'ﬂ) 3R B_C‘Zn@?b_ 317\1,3 Y (&Iw aﬁﬁ'—‘ﬂﬁ"l}

3. Classical Conditioning and Operative Conditioning / [ 3dYH (TR BRI MR ﬁv_cﬂqﬁﬁ 3T (3IToRT HerRfm)
4. Classical Conditioning and Observant Conditioning / R G'Iﬂa‘iﬁ (WT&IW HSIRTT) SRS Sy (ﬁﬁlﬂ? FHerfm)

Correct Answer :-

« Classical Conditioning and Operant Conditioning / AT 3fdY @FIT@IW CaSIRIER ) 3R guTdt 3fdY (Gﬁui.? CESRIRE )

20) Nive’s father has grey hair and is tall, so she thinks that all fathers have grey hair and are tall. Which stage is this approach? /

1ga & e & 91 Wibe SR @ ¥, ST a8 Wiud! @ i @it & fran & arar v ok o €1 78 eRH i srqmn A @2
1. formal operational stage/ ST TihaTeD TR

2. concrete operational stage / Tdl WfohaTH® TR

3. sensorimotor stage / YTRTHICY TR

4, pre operational stage /Jd TfthaTETd AT

Correct Answer :-

 pre operational stage /Uﬁ?—lﬁfqﬁqﬁ SHART

21) Eysenck added a third dimension to the personality trait, which is:/
3MEAP A Afkicd P TP TR MU P 1 F €, T8 HI-AT1 8?2

1. Agreeableness/ HgHddl (@ﬁm

2. Conscientiousness/ 3fAfddem2iadr (?ﬁ:ﬁmﬂ)

3. Neuroticism/ TRIfeed



4. Psychoticism/ msﬁ%m

Correct Answer :-

« Psychoticism/ WTg®IfcsH

22) A child cannot wait his turn to bat and often runs on to the field when someone is already batting. What problem could the child be facing? /

TS ST Seaarst P 7T Uit T} B1 SaeIR 781 X ThdT 3R SRR AGH W GISdl ¢ o DI Ugd A &) Teciarsil & 381 gial & | T=1
o wowT & S IRIEN?

1. Dysgraphia / [SRRUEE

2. Attention Deficit Hyperactive Disorder / TTHTE Ud Sffaafeadr faer
3. Attention Deficit Disorder / &I 3HTd fdHR

4, Autism / 3T )3ﬂa:|faTﬁ—6'(

Correct Answer :-

« Attention Deficit Hyperactive Disorder / SATHIHIG uq Afaafpad der

23) Who among the following is a humanistic theorist? / fafafeadd o= TP HHadIare! RIsiaeR 22
1. Sigmund Freud / s wras

2. Ivan Pavlov / dT LICRIG]

3. Aaron Beck / QR 9

4. Carl Rogers / It I

Correct Answer :-

o Carl Rogers / P Aord

24) Attitude towards learning is best defined as something that J SITERTH & vfe =P ivr ot §ad et e & wu § ufeuia foar sirar
FS__RI

1. can be modified only by the learners themselves/ Faq fRenfiat grr € =N faran S gwar

2. can be modified with age/ 31T & 1Y G=NTAT foaT o qhelm

3. can be modified by creating positive learning environments/ HHRIHD STEATH TTATaRr SRR SN oo 5w
4. cannot be modified/ TNAT :%1 fosar &1 gan

Correct Answer :-
« can be modified by creating positive learning environments/ HHRIHD ST ITATARUT SHIHR TN foram S qaar

25) Round Robin Charts are used as a formof ./
IWsAfTIE | FEuA yged fpuwme B

1. Summative Assessment / AP ATH AT

2. Diagnostic Assessment / FGHIA® 3aha

3. Interim Assessment / 3ART 3Tpa

4. Formative Assessment / XdTHD Th A

Correct Answer :-

¢ Formative Assessment / XIATHD Hlh



26) Today’s classrooms are likely to have a wide array of cultural, ethnic, and racial ______among student /

TS & Hefefl # B & 9, GRpfae, A iR awity @) ue faga gar 811 & Gue 81
1. Dynamic / gfgpaar

2. Similarities/ JHTIATY

3. Diversity / fafaeran

4. Continuities/ FRaRaT

Correct Answer :-

« Diversity / fafaean

27) Giving a stimulus to a child once to motivate him/her is:/

TH T2 31 UMvd HA F g 37 I@fora = = gt 2
1. Continuous reinforcement / PR eIl

2. Operant conditioning /3TISC HS IR

3. Reinforcement / gE@IHRUI

4. Neutral stimulus / dC&J ol

Correct Answer :-

. Reinforcement/m

28) As a teacher when you are working in a inclusive class room, your role should be: /

T 18 $ T o9 1Y TP TATAN HET § BT B3 32 81 €, 4l 3Mus] YT gt =nfee:
1. Punisher /&8 o aren

2. Care taker / S@HTS B ATal

3. Investigator / 3IAYH

4, Facilitator / alddh

Correct Answer :-

o Facilitator / gl

29) ‘Bob can put together a model airplane’. This statement is an indicator of which attribute of aptitude test? /
‘g9 TP AISd gaTs STeTS B! TP TTY T Tdha & I T8 Y, gy udterr @1 fe faxivar &1 wda 82
1. Clerical thinking /Wﬁfﬂq

2. Spatial thinking / e fiaa

3. Organisational thinking/?i""l—o'_'l'l—cqﬁﬁ?l:[

4, Intellectual thinking/mf%iﬁq

Correct Answer :-

 Spatial thinking/Wﬁﬁ?

30) What is the term used to denote the basic, innate disposition of a child? /

T g2 & Jd, STHoTd WU $! FEfa $37 F e 69 ug &1 wahr faar srar @2



1. Personality/aZI'I%k_qr
2. Temperament / U@—ﬁ 1 fres
3. Disposition / 3

4, Attachment / Gel =

Correct Answer :-

o Temperament / 1;@‘% a1 fres

Topic:- General Sanskrit(L1GS)

" RiamE scaed e 6 2
 TOq: i |
2.'I:E'ITﬁ-__[:'ﬁfIFIT|
3 fOq: o |
| Oq: g3 |

4 3 3

Correct Answer :-

? garfa: sfa oeg ouad |
_ Fcafterd |

_ FeaTRere |

| Tcarierfd |

- Feaierfd: |

Correct Answer :-

4

? T et Ripaed & R Tasad 2



ST |
S|
_ | |
RECC

Correct Answer :-

4)

A AT AT o ?
, el

N 31&HG |
.

St

4.

Correct Answer :-

3TEAG, |

3CTIH |

2. Sy
gToISaTH|

3. =2 = k:
Hifelga#H |

4. Y~

Correct Answer :-



Teld T ST 37Y: &: ?
T |

1

B eccl
| 3TEIelcTa, |

4.313311%“

Correct Answer :-

T |

Correct Answer :-

e |

? Usded 3cdd UcHd: & ?

doh |

1

o |

2.

g |

3
9|
4,

Correct Answer :-

ody |

S



Correct Answer :-
eIl e: |
e

" pee? Bfa HEAT st farad |
 CaTAaca AR |
_ cAfsaafdeaagerRas |
BCCIEErBE AN L
4 AEGERIBETECNNGEN

Correct Answer :-



AEGERIBEGCOANEE

Correct Answer :-

. o |

? sreEe sfar FiEaa o9 aifed 2
1.31-(_‘|?13||
A |

. Scadicdd |
, T |

Correct Answer :-

 3cdH |

14) & %
A gHod-Fdl: HIH: oh: |
1 AT |
, HIgeT: |
HeET: |
3. e



Correct Answer :-

® 3.33 i3 guew 3 T |
 FafEREfawAae |
TGS TAAGAH |
_ TfEREfasAace |
, RTEREfas e |

Correct Answer :-
. > |

16) N\ N\ %
Toifd 3IET dic dh ®9 fohd ?
1. o |
ot |
) 2

2

_ TeId |

TaTd |

4

Correct Answer :-

f5r caRr ardn: &t Uy ¥4 fRA 7
lﬁchlTlﬁTl
_ cafkedr |

3ﬁ?ﬁTl

17)



, T |

Correct Answer :-

AR |

18)

U AET AT g RH ?

gIehd |

1

2. = I

) gt |

20)

9 AecTT 3T: &: ?
T |

e |

2.

1



4.



Eifersal |

1.

2 TS |

3. o 3 |
qfeisar |

4 2

Correct Answer :-
CIGECI

L] J ke

24)

PIRAN: ST gUMe] greh reh faEd |

oI AAF L 3

1

F 3T A A L3 |

2

B IMAAS I3

& T AHS L3
4,

Correct Answer :-
% A AG I3

Ug ded|
thl?ﬁaam

Clrac dcd |

3
4t|1%ra€€r|

Correct Answer :-

Ucel dcd |

c



4 % l
Correct Answer :-

Uy: + 34 |

27

' gaa: 3 garw Aewd fRA 7
IR
z.WI
3m|

4‘:ITI'WI

Correct Answer :-

Correct Answer :-



3787 |

2

HATATH_ |

3
_387ad |

Correct Answer :-

HATATH |

Topic:- General Hindi(L2GH)

1) MEX & WA HT A0S Higed $I 3R g7 AN TR A Wieht & vgadw 3T A1 31l o) Aeg I v RR W Ry aign == SarT 1 frd) & w1 v Fexd
A1l arelt| fegd 2’ A W Hig T TR 1E) 1 O % 7 S € a1 Siel S€ 7 §a g, T) & oot arh, s3E) | 981 I8d o1 @ iR, 8% 9=
qEP | - T AT Mg a0 367 & I BTH $ B gl 98 bl 81 ITDT Iy Uiagd! A6t ITP T af Tl ¢, fegdt MR & 3% o Wi § gl &1
SIET 9 GiRed 81 WA 98 A 3@ dl /i & A RS SR WIeF 9 a4 & 918 SiUA Iee, A1, Rrurs v Y wHn Ut @ gt i Jer iR
WM P 9E A9 B TP JAAT| TR & 1w, A1a ) oY g= grad & Hivjg =i =l

Suded T B USHT 18 T T UY HT IWR qA153:
- forurg ®e & fore s 8 2
1. fargt

2.34all



3. SWiad gt

4.3

Correct Answer :-

2) XMEX & JHA BT WS Higed $I 3R o7 ATFEH TR B Wiell § UgaH 36 g1 511 B Agg | v R W eR7 aign = IarT1 gt § wR1 o Fex|
77l arelt| g wrex A wmae FI5 W1 W) LY ghn o 9% 7T e 8 91 5igT S9 7 9Hd B, TR ¥ ol (AR, skl A agi Ygd o1 18 fHieR, 3 9=
qaD | R H A1 U A 389 F I B B HIA qTel 98 APt g1 IAPT HIg Uiagal el | IWb TR @ T 8, e MR & 33t i § Iegl &1
ST a% Gied g S| 9% 7 I8 ) S arEe [0S SR WIS AR a1 & 919 3R Iee, D, Frard s o5t wen a1 8 st e Jem oik
WH P AT A B TH JUAT| TR T T, A1t Fg) o 8- gTera ¥ Hiejg 3g-1t ariee|

ST T P UgHR -9 YD 7T UY BT I7R Ia133:
- R o1 w2 T 32

1. gferRreht

2. gt

3. geft

4, faueft

Correct Answer :-

. Tah

3) YER & AAA BT qUS Higed P1 3R 99 AT WX $1 @ielt # UgaHR 39 1 3141 $1 Hgg | 3uA RR W 4R1 9ign 17 3ar11 fg) § 1 7 Fexi
wTet areft | gt reX § <A Big TAT TR E) B R 98 7 St 81 91 96T S 7 W 8, TR S o e, I8 ¥ 981 I8 d 37 3% fPheR, 39 I
qa | TR-EX A oret Fgt 3 I3 B W B DI A arell 98 bl &1 IHPT BIS Aldge! Tl | STh SR ot ol 8, e e & $S U W) § Yeal a1
ST a% G g S| 98 | I8 9 AN b 9rE [0S 3R WIS SR @1 & 91 $UR Iew, T, [UrS B @t et 31 g St e Jer ok
WH P A A B TS JUAT| TR T AT, T ) oY 8- gTera § Hiejg Ig-1t arieu|

IT TR B UGHR A1 UD 7T U BT ST qaIgd:
W= wigdl g BT A 7 2

1. R

PASEE

3. fagrh

4. faueft

Correct Answer :-

. foueht

4) TMEX & AT P AUS Hged DI 3R T MY TR F Wiell & ugaa ST 1 31Ul 31 Aeg A oo R W _1 g 2 IarTi frgh & wR1 o $exl
T arelt | feEst weR @ wmae w1 ¥ W) E g Ol 98 7 S €1 91 S8t 39 7 W4 8, R & o [Harl, A § 987 Ted 31 W iR, 3% =
TP | R A A1 U a0 389 P I B B HIA aTell 98 APt ¢ 1 IAPT BIg Uiagal el | IWb TR @ T 8, e MR & +3 0 Wi § Iegl &1
AT 9% GiRPd 8 SRR 98 9 3@ @ @1 & JE IS R WIS #R a9 F 918 3UH s, Do, 1S He @+t guan 9e1 8 wieatt | WieE 9 s
M & TRE A I TH TEAT| TR T 970, I Fg) o a- g1era & His[g we-it arieul

ST TR P UgHR -4 YD 7T U 6T IR Ia154:
- @l FaT R 2

1. A BRI

2. BRAM

3. SifafrTg

4, §TQ

Correct Answer :-



5) XMER & AT BT A0S Higed i 3R 99 MR TR F1 Wieft # vgadH? 394 ST a1 F) Aeg I v RR W Ry aign =19 SarT1 frd) § w1 v Fex|
A1él arelt| g <e” A WG g AT TR 1E) G O % 7 S € a1 STel S€ 7 S g, B) & $ot arh, s3E) A 981 I8d o1 @ iR, S a=
qOP | - T ard Mg I 367 & I BT 1 B 96l a8 bt 81 ITDT DIy Ulagd! 78t ITP I dl T ¢, fegdt WMer & o8 v Wi & gl a1
AT a% Gird g1 SR 98 A T o) AN b [THA [0S 3R IS B a1 & 919 3UA Iee, D, furs $e @5t e a1 81 St Wie  Jer iR
TF & A A B TH TUAT| R T AT, A1 Fg) o g= g1era § Hisjg we-t arieul

Iuded T B UGH 19 T T UY HT IR T8
u- firdt &1 3311 31eq TR 2

1. gt

2.9al

3. 9198

4. 918

Correct Answer :-

6) YER F AU BT A0S Higed I 3R 99 A W F1 Wieft & vgaa? 3T ST 21l 3 Heg A v RR W Ry aign -1 SarT1 frd) & w1 v Fexd
A1l arelt| Regd 2e” A W Big T TR 1E) 1 O % 7 S € a1 Siel 9@ 7 Sa g, TR & oot ar, s3E) A 981 I8d o1 @ iR, S 9=
TP | - A A1 T 30 T8 F S BT B B4 arell 98 rbell 1 IAPT BIS ufaga el IS TR Al e 8, e weR & 7 we R A et B
SIET 9 GiRed 81 WA 98 A 3@ dl @i & A TS SR WIeF 9 a4 & 918 SiUA Iee, didp, RrurE #va Y wHn Ut @ gt i Jer iR
WM P 9E A9 B TP JAAT| TR & 1, A1 F) oY g= grad & Hivjg =i =

Suded T B UEHT 18 T T UY BT 3w TA153:
UT- TS| T BT Pl 82

1. §o AoH &1

2. GH1 UM BT

3. HOIgY! A &I

4. o figt g &1

Correct Answer :-

. o gt g &t

7) YER & AAA BT qUS Higed I 3R 99 AT WX F1 Wielt § UgadHR 36 1 o141 $1 Hgg | v RR W oR7 aign =9 SarT1 fdh § w1 o Fexi
77t arelt| g wex A wmae FI5 W1 WX LY ghn ot 9% 7T e 8 91 5igT 99 A WHd B, TR ¥ ol (AR, SRl A 9@t Ygd o1 18 fHieR, 3 9=
qaD | R-IR H A1 U 3 387 F I B B HIA qTel 98 APl g1 IAPT By Uiagal el | ITb R @ T 8, ReH MR & 33t Wi § Iegl &1
ST a% Gied 8 S| 9% 7 I 9 A S arEe WS SR WIS AR a1 & 919 3R gee, D, s s @5t wen a1 8 st e Jem ok
WH P aE A B TS JUAT| TR T T, A1t FIg) o 2= g1era § Hielg Ig-1t ariee|

ST T P UgHR -1 YD 7T UY BT I7R Ia133:

- fad ok e wev & @i & ggl YeeT Sta 5 8 S
1. Tt & aret

2. IWa Tt

3. @M1 S aref!

4. ASIG A aratt

Correct Answer :-

. gt arch

8) XMEX & AHT $T AWS HIged B 3R T A TR F Wil # Ugad? SUA g1 51Ul B Age A U R IR R_1 aign it 3arTI gt & wR1 7o Fex
77t arelt| g wrex A wmae #I5 TAT WX LY ghn o 9% 7T 9 8 91 56T 99 7 9 B, R ¥ o AR, skl A 9@t Yed o ¥ fieR, 3 e 9=



qAP | WR-TR T A9 FUET Sd 359 & 3T HTH BT HIA aTell a8 S(dbdl g | BT BIg Uidga! el TP FIR df TIdT 8, e WMeX & $8 T Wi 4 gl Bl
ST a% GiRrd g S| 9% | T8 ) @ b 9TE [0S 3R IS AR a1 & 919 3UA Iee, D, furs s @5t wuw a1 8 St e e iR
WA F1 e A B TP THAT| TR & I, A1e F) Y g= grad & Wi Y- eyl

IR TR B UGB 1A I 7T Y BT 3TN qd13:
- R H faaiw grm?

1. el

2.7a

3. Teid

4. Hl

Correct Answer :-

9) TR F AT BT WS Hged Bt AR T TR W F Gielt & ugmas I+ G 3141 1 Weg F oA RR wR eR7 dtgn = IarT| gt & wR1 T dexl
A1l arelt| g <R A WG Big AT TR 1E) G O 98 7 S € a1 STel S€ 7 S g, T) & pot arh, s3E) A 981 I8d o1 @ iR, S a=
qaP | - T ard Mg a0 367 & 3T BT 1 B qTell a8 bt 81 ITDT DIy Uiagd! 78t ITP I dl T g, fegdt MR & o8 v Wi & gl &1
eI a% GiRrd g1 S| 98 A T o) A b [THA [0S 3R IS B a1 & 919 3UA e, 9, furs $ &5t wHw a1 81 St Wie Jer o
TF F A A B TH TUAT| R T 9T, A1t Fg) o g= g1era o Hiejg ve-it arfeul

Iuded T B UGH 14 T T UY HT 3w TA18Y:
- AT TP YHR PTEA1 8 ?

1.%d

2. gerd

3.%d

4, o

Correct Answer :-

10) MER & AU BT TS Higed Pt 3R T M o1 31 Wieht & uggax 394 A1 314l F 7eg | 37 RR W eR7 a2 SarT 1 frgh & wR1 oo dexd
w1él arelt| g 2R A W Big T TR 1E) 1 O 9% 7 S 8 a1 STel S€ 7 S g, T) & oot i, s3E) A 981 I8d o1 @ iR, 9% a=
qOP | R T AT Mg I 367 & I BT 1 B 9Tl a8 bt 81 ITDT DIy Uiagd! A8t ITP I dl T ¢, fegdt MeR & o8 v Wi & gl &1
e a% Gird g1 S| 98 A T o) A b [THA [0S 3R IS B a1 & 919 3UA Iee, D, furs H &t wHw a1 8 St Wi Jer o
TF B A A B TH TUAT| R T AT, A1 ) o g- g1era § Hisjg we-t arfeel

Iuded T B UGH 14 T T UY HT IR T8
WH- TR § 1 WG ¥e+1 ARy

1. et gt

2. 9% fgt

3. YO AT B

4, 9%, AT e

Correct Answer :-

. %, AT e

11) e P THA B TS Aigeet B R T TR T T el & Tgad: 3 qH1 g1dl 1 Aag A 307 AR W R aten -9 Sarr | fgt & wR1 0o x|
A1él arelt| g 2’ A WG Big AT TR 1E) 1 O % 7 S 8 a1 STel S€ 7 Sa g, TR & oot ar, s3E) A 981 I8d o1 @ FhieR, S 9=
TP | R-ER A A1 T 30 T8 F S BT B B4 arell 98 rbell 1 IAPT BIS ufagal 16| ITP TR dl e 8, e WeR & 7% v W A et B
SIET 9 GiRed 81 WA 98 A 3@ dl /i & A RS SR WIS 9 a4 & 918 SUA Iee, didp, orurs v Y wH Ut @ gt i Jer iR
WA P e A9 B TP AT TR & 1w, A1a F) oY &= grad & Hivjg e =l

ITT T FI UGB A9 U 7T ¥ BT 3T qa1g:



- IS B T U GHET 32
1. fgt g

2. AOIGE AT

3. UT-HWHTg HRAT

4, YIS e 3R TH &t

Correct Answer :-

. U e 3R T Bt

12) WEX & AHA BT qUS HIged B SR T AR TR B Wil § UG IG g1 o141 B 7eg I 3 Rk W 4R1 9 =i SarT1 fgh & w1 o $exd
a1t arelt| gt 2”& e Big AT R 1E) 1 R 98 7 S 8 a1 S8l S9 | S 8, TR & oot i, svEl A 981 v8d o T8 AR, 3% a=
TP | R A I FISY 30 3893 F S BT B A a1l 9 bl 1 IqPT PIS wiagdt T TS SR A e 8, e IR F E vw N A get B
ST a% Gied g S| 9% 7 I @) A S AT [ iR WIS B A & 916 3uA gee, D, s s a5t wen a1 8 st e Jem ik
WH P A A B TS JUAT| TR T AT, A1t FIg) o g- gTera § Hielg 3g-1t arieu|

I TR B UGHR A1 UD 7T ¥ BT ST qa13:
- TR ST AT W I A

1. feAra

2999

3. RA Y

4. TR

Correct Answer :-
. T

13) W6 & JHA BT TWS Higee B 3R T M@ &R 1 Wielt § Ugaeh? I SHI 8141 Pl Hag F 30 R 1= oR1 a2 IarT| gt & w1 v e
77t arelt| g wrex A mae HI5 TAT R EY ghn o 9% 71 et 81 91 SieT S} A S Bl IR & i (AR, sl @ 98t Yed o 18 fieR, e 9=
TP | TR-ER A A1 TS} Sl T8 P S BT B B A6l 98 bl o1 SHPI PIS Uiadgat A6l | IHP SR df AaT ¢, feedt WeX b $ 1@ W A Iegl B
ST 9% Gied g1 SR 98 | ¥ ) AR 5 ATEe 3918 SR MR A o 916 SUR a8, Wy TS HRA o5t g Ae1 g St e Jer ik
WH I A A B TS TUAT| TR T AT, A1t () ol 8% gTerd A Hiejg e+t aneel

SUed TN D) UgHe A fAT T wsl & IR aiEe :
1. fae=h
2. dad
3. dH
4. GRS

Correct Answer :-

14) TER F AT BT WS Higed Pt AR T MR TR F1 Wielt & uggeax 394 g1 5141 $t Weg T 30 RR W erT g 2 3arT 1 fgh & 1R1 T dexi
A1 arelt | R dt wrew # W a1 1S wR TE @ R 9% 7 S 81 a1 oiel S& 7 9 B, TR & P Frarh, sl @ 98 t8d 31 R AR, 39 9=
TP | TR-EX A a1 FIEY 33 76 & U BT B S a1l 98 Ibell 1 IS BIS Ufagal Tl IHP R At avrar 8, Red e  #E v W A geadl B
AT 9 YR 8 SRR 98 9 3@ @ @1 & A [0S R WIS #R a9 P 918 3UH s, o, 1S $e oY gaan der 8 wieaft WieE 9 e
WM $1 e A 1 T THRAT| TR & A1, A1 gt ot o= g1era | Hivjg ve- @]

IUa TR P UgHR -4 YD 7T UY BT I0R Ia153:
UR- TS B T JHT 8 82
1. forarg e

2. T YA



3. YIS ST
4, YIS SemT

Correct Answer :-

o O YA

15) W6 & YA BT TS Higed B X T SN TR B Wieh & Ugaedy S 1 g1l 3 7igg & oA KR W 4R aten 12 Sar 1 frgh & w1 oo dew | ardt aredt
e 2rex A W VAT HIS °UR 1T §I R a8 =1 STl €1 41 oigT 34 7 WHd g, TR & Sl Fiareil, s38) § 981 T8 31 78 fPeiegR, 37 o= due | - § a1
g 39 3@ & IU BTH B I TTel T8 Dol ¢ | IS D13 Ufagd) 78Y | ITP TR o) a7 2, Red e F oS TP W A Yeg) T Sia dob GiRpd & oA 98 TR
g@ﬁ%msﬁ?mmmﬁ%%mmi@,%ﬁmﬁmﬁﬁmﬁaﬁmlquﬁsﬁv@ﬁaﬁmﬁaaﬂwmlwﬁw,mﬁ@
WE@aH e afeul

Iuded TR B TgHT 12 T T WY BT ST qaA15a:
- Hew Faad 8 2

1. PR

2. e

3. HIhl

4. STt

Correct Answer :-

16) T yHM B,
qAsHm B,
TGS,

PR XYY, PR YUY, HT AUY,
3Ry 3Ry gy
TgHEH T ¢,

T/ ATAE,

Y WG I q,

AYTY AYTY FYTY,

3oy Ry 3rffmy|

ST UL B UeHR A UD T U PT IR qa133:
URH- <Y’ Xeg f6T HTHT HT7?

1. 9¥pd

2. fedl

3. T Y PIS T

4. 3%

Correct Answer :-

17) T ¥HMHH,
T3 B,

TAGSM B,

PR YUY, BT YUY, B XY,
3Ry 3rfiray ¥y

PR HEEuEA
ECEGE G TS

Y W 9,

AYTY TYYY TYTY,

3oy 3iffray sy

IT UL Bl UgH A IR T UY HT ST gaT33:



UH- g BT 3d 3 2
LG

2. 31

3. 9%g

4. G

Correct Answer :-

18) T YHM FH,
AT B,

qagesm e,

DX MUY, P YY, hT YUY,
3Ry 3rfiray ¥y
TgUETH T 8,
TAGIATHE B,

Y WG I A,

AYTY YUY YUY,

3y afdray gy

IU Ui Bl UgH 1 ID T UY T ST ga133:
WRH- U Biaar &1 ufoure 82

1. foRg F1SllaA

2. g9y SitaA

3. TN B Sita

4. FafHg Sha

Correct Answer :-

. gy Sfiad

19) T YHT FHH,
T3 B,

TAGSM B,

DX MUY, P YUY, hY YUY,
3Ry 3rfiray ¥y

TE UG T ],
TAGTATHE B,

Y WG I 4,

AYTY YUY YUY,

3y afiray Sy

IU Ui Bl UgH A ID 7T UY T 36 ga133:
W=H- Sfia &1 g Uy Uy H1 32

1. TTHIPR T

2. 3 & qAE

3. X & A

4. 34 & IAH

Correct Answer :-

. AN H gEM

20) T yHm Hf,
FATHM B,

FAgSM B,



P Y, P AYY, HT 7Y,
3y aifdray ey
JgWRH TR,
ECRHER

Y W IR 9,

AYTY YUY YUY,

3Ry aifiray ¥y

SUYed Ui B TgHR 14 TR T Y BT 7R argd:
WA- <A BT yataar T8 32

1. 3ff

2. 3

3. Uldd

4. AT

Correct Answer :-

21) T Y4B HH,
gaTEm B,

TAGEM B,

PR YUY, BT YUY, B XYY,
3oy sfiray sifdray|
TEHEH T B,
TAF/TATH 3,

Y W 9,

AYYY AYYY TYTY,

3Ry 3rfiray 3y

IRIT U B UgHR -1 TR T UY BT IR Ia159:
- <Ry § B a8

1.%8

2. 3fourddt

3. FHYRT

4, Sgdifg

Correct Answer :-

. PHYRY

22) T Y4B H,
gATHm B,

TAGSM B,

P TTY, HT Y, B MUY,
3Ry 3rfray 3l

TG HEH T B,
IAGTAIH &,

HY WG 9,

AYYY AYYY TYTY,

3Ry 3rfiray fmy|

ITIF U B UgHR ) TR T Uy BT IR qA153:
- <3 Weg B2

1. fageh

2. dgH

3. dad

4. QR



Correct Answer :-

23) T YHMHW,
A THM B,

TAGSM B,

DX XYY, P YUY, hI YUY,
3Ry Sifiray 3y

JE W TR,

T AT T,

Y WEIH 9,

AYTY YUY YUY,

3Ry 3ifiray ffmy|

SUYed TEi B TgHR -H TR T Y BT SR argd:
- Ugd Siaar § ofd fbg a1 Y Iy @
1. $Id TGS Bt

2. HId T U B

3. Had A ¥PA B

4. SWRIad aHt

Correct Answer :-

. IWiad gt

24) T YFTH,
qATHmHl,

TAGSM B,

PR YUY, BT YUY, B XY,
3Ry 3rfray sfmy|

TG HEH T B,

T {TATH 3,

YW v b,

AYTY TYYY TYTY,

3Ry 3rfiray Ry

IR U B UgHR ) TR T Uy BT IR qA153:
- @YY § aed g2

1. S8 gel

2. TGS

3. ger gl

4, FATGSN

Correct Answer :-

25) T YH FH,
AT W,

AT B,

P YUY, HY YUY, B XYY,
3Ry 3rfiray 3y

TG HEH T B,

T {TATH 3,

3y WG I 9,

AYTY TYYY TYTY,

3oy siffray gy

IR U B UgHR - TR 7T Uy BT IR qaA153:



- 3Ty W Ie #1 Igiu fohaes g 82
1. 9O9R & forg
2. 3 & ferg
3.3 & fog
4, T & fag

Correct Answer :-

. H9 & fog

26) T YHT I,
AT B,

TAGSM B,

DX MUY, P YUY, HhT YUY,
3Ry 3rfiray ffmy|
TEUEF TR,
TAGIATHE B,
YW,

AYTY YUY YUY,

3Ry 3rfray ffmy|

IU Ui Bl UgH A IR T UY HT 3T 9a133:
WRH- <31% Ueq &2

1. GfefT

2. TlifeiT

3. AP To

4, HYIRT

Correct Answer :-

27) T YFMH,
AT B,

TAGSM B,

P Y, HY AYY, T IUY,
3Ry 3rfiray Y|
TEHEF TR,
TAGTATHE B,

Y WG A,

AYGY YUY YUY,

3Ry 3rfray 3y

IT UL Bl UgH A IR T UY HT 3T gaT33:
U- <Sfta wud &1 ¥ g8 S @2

1. S{YHTOTS

2. 38

3.9

4, DIUHD

Correct Answer :-

28) 4 yHmH,
AT HW,

FAgeSmHW,



PR YUY, I AYY, HR UY,
3Ry sifiray 3l

Y AT T 8,

IA /I ATE R,

Y WG I,

AYTY YUY TYYY,

3Ry Sifiray ffmy|

Suded Ui B TgHR 14 TR T UY BT 7R argd:
URH- OIS Xeg W DI AT T3 8?2

1. Afadarae =T

2. HIgdTae I

3. TTH AP T

4. SHTfcraTeres I

Correct Answer :-

. SIfqarEs I3

29) T YFMHH,
gasEmHl,

TAGSM B,

PR YUY, HY YUY, I XY,
3oy sfiray sifdray|
TEHEH T B,

T /T ATH 3,

Y W 9,

AYYY AYTY TYTY,

3Ry 3rfdray sfmy|

IU U= Bl UgH Y IR 7Y U BT 36 aalsd:
WH- RMUY FHT gatgart 78t 82

1. vt

2. HIH

3.0y

4. ANty

Correct Answer :-

.Y

30) T 4B HH,
qATHmMHl,

TAGSM B,

PR YUY, BT YUY, B XYY,
3Ry 3rfiray sifmy|

TG HEH T B,

T {TATH 3,

YW b,

AYTY TYYY TYTY,

3Ry 3rfiray 3Ry

ITIF U B UgHR ) IR T Uy BT IR qA153:
- U BIaar &1y St 32

1. @Sl aeft

2. 3faeit

3. SISTHTHT

4. ot



Correct Answer :-

. T3l et

Topic:- Mathematics (MAT)

1) From the sum of 2m2 + 3mn + 3p, — 4m2 — 7mn + 5np — p2 and 5n2 + 4np + 2p2-p subtract the sum of 6n2—m2 — 5p2 — 4mn and -m?2 +
np + p2+2p. /

2m?2 + 3mn + 3p, — 4m2 — 7mn + 5np — p2 TG 5n2 + 4np + 2p2-p F AT T A 6n2 —m2 — 5p2 — 4mn TG —-m2 + np + p2+2p F TN H T |
1. 11m2 +8n2- 4p? -4mn —2m?2 +6np + 2p

2. 3p2

3. 5p? -n% + 8np

4, 8n2 - 5p2 -7mn —2m?2 + np + 2p

Correct Answer :-

. 5p2 %+ 8np

2) A farmer wants to fence his regular hexagonal plot of side 200 meter. What is the total length of rope required? /
% fHaT 200 Hex Yo & TU-YCYW SMHR 91 YIS B qT8 AT Argdl B 1 39 1 simaxas &0 31 ga dars feast ghftz
1. 1400 meter / 1400 HIeX

2. 1000 meter / 1000 HieX

3. 600 meter / 600 FeX

4. 1200 meter / 1200 Hex

Correct Answer :-

« 1200 meter / 1200 Hex

3) On selling a tea set at 10% gain and a lemon set at 20% gain, a crockery seller gains 26. If he sells the tea set at 5% gain and the lemon
set at 15% gain he gains 17. Then the actual price of the tea set and the lemon set? /

10% & ATH IR TH ¢1-Te 3R 20% F ATH R TP Yad-Ue 3949 W, TH HIPHI) [Ahdl 26 TYY BT ATH YT T ¢ | Tl T8 5% &b ATH W 1-Te adT
15% & Y R ed-Ie 9T 2 a1 I 17 IUA $T A1 UK gl 8, ot -9 Td dd-Ae HT IRAfad Ged 22

1.75, 80
2.200, 100
3. 100, 80

4.150, 120

Correct Answer :-

4) A hotel requires 91 bottles of oil for a week. Find the cost of oil it will require for 58 days if one bottle costs Rs. 98. /

T glcd o TP HWIe & 91 Fad a0 31 ATaRaHdl gidl 81 e TP Sae 31 anTd 98 ¥ 3, A 58 Al F g smazass aw1 31 arma w1d H
1. Rs. 72384 / 72384 10

2. Rs. 75460 / 75460 TUA

3. Rs. 75400 / 75400 ¥4

4. Rs. 73892 /73892 Ty



Correct Answer :-
+ Rs. 73892 /73892 TUY

5) Breaking up of the mathematical concept into smaller parts is termed as ./

T SrEeRuT B B Rl # die FT AT B
1. synthesis / SRAYUT
2. analysis / fa=erooT
3. inductive / STTH
4. deductive / FTH

Correct Answer :-

o analysis / ICEGL

6) Fill in the blanks. /

e wIF W

I-53+__=53

II[11 + (-1)]- () = () + [(-14) + (-9)]
1.I:0, II: -9,-11

2.I:0, I: 9,-11

3.1:53, II: 9,11

4.1:106, II: 9, 11

Correct Answer :-

o I:106, II: 9, 11

3
7) 1f the volume of a vessel in the form of a right circular cylinder is 448  ¢™° and its height is 7 cm , then the CSA of the cylinder is

N

I TP O T 6T F PR I TP I T AT 448 T B gyt g Fad 7 AN R, Ny wraw W dEwa 2
1. 464 sq cm / 464 T R

2. 378 sq cm /378 & it

3. 352 sq cm /352 o St

4. 482 sq cm /482 G Y

Correct Answer :-

» 352sqcm/352 i ot

8) If the perimeter of a regular octagon is 320 cm, then the length of one side is: /

i U [ APYS BT URATY 320 FW B, & 3UST TP YOIl Bt 4TS 8:
1. 60 cm / 60 AT
2. 80 cm /80 T
3. 40 cm /40 9H

4.70 cm /70 QF

Correct Answer :-



« 40 cm/40 9F

9) Which of the following will give a whole number result? /
Frofafea & 3 SiF-ur afvom & v & v gl S@n 3m?
i. 6-2

ii. 6/5

iii. 0x3

iv. 7-9

1. Alli, i, iii, iv /H’*—ﬁ i, i, i, iv

2.i,and iv/i, T iv

3.Only i/%adi

4.1, and iii / i, Ud iii

Correct Answer :-

e i, and iii /i, Td iii

10) A conjuncture is a statement which we believe is true, based on mathematical intuition and if we proved it, then it becomes a ./

wﬂléﬂﬁﬁ(wvﬁ%ﬁv)wmq%ﬁﬁswm%ﬁ?ﬁﬁ%,@mamﬁwanm%aﬁwmsﬁsﬁmﬁamﬁm,a’rug
™ 9 ST 1

1. postulate / YR
2. axiom / TERIG I1 Rrgid
3. theorem /Qﬁq

4. statement / YT

Correct Answer :-

e theorem / Y

11) Amicable numbers is discovered by ./
Tfirbad AR B @S RIS T

1. Euclid / gfaas

2. Thales / ¥e&

3. Pythagoras / EIEUIThW

4. Plato / el

Correct Answer :-
o Pythagoras / UIUTIRY

12
) Ifu;=x; —900,% fiu, = —400,% f, = 100, then x= o

afd u, =x,—900,X fiu,= —400,Xf, =1008.ar x=____
1. 984
2. 546

3.782

4. 896

Correct Answer :-



13)
Evaluate

=*-5
242 +4

i e .
CEESHirhk i x=+21+4_2%—' SRS

= Zthen x is:

1.2
2.1
3.3

4.4

Correct Answer :-

14) 15 A PQR and ALMN, PQ=NM. 2P= £ M. The two triangles will be congruent by
SAS axiom if :

APQRTA ALMN #, PQ=NM. £P=sM §| SIT-&IvT-87a f&aid Za@nT ar
P weeA g, Tt

1. QR=ML

2. PR=ML

3. QR=MN

4. PR=LN

Correct Answer :-

« PR=ML

15) Inthe given figure, O is the centre of the circle, £ 0AB=60" and the radius
of the circle 6 cm. Then the area of the triangle is:

few st T@RT & 0 o7 7 FF § 20AB=60°3R Fea Fr FF=2w
6 W &, af P &7 9w &

A B
9y/3 em? / 9y/3 T2
1.
133 cm?/ 13+/3 IHE
5 7V2 cm? [ 702 TR
4.6 cm2/6 Jii2

Correct Answer :-



93 cm? / 93 HHI2

16) In an equilateral triangle ABC, AD 1 BC.AD? = xBC% thenx=_
U FAGG ST ABCH. AD LBC. AD* =xBC A x=__
3
1. 4
s
2. £
h:
3.3
4.4

Correct Answer :-

L

17)
If @ and ff are the zeroes of the polynomial 3x2 + 5x + 7. t.l:u:n:—3 +ﬂ% s :

uﬁaua;ﬁaguaax2+5x+7a?a;m%=a’r$+%= 21

1910
2101

1. a a
190

343

37
3. 82
243
4. 310

Correct Answer :-

190
. 343
18)

Ifthe side of the equilateral triangle is 44/3 which is inscribed inside a circle , then the area of
the circle is:

afe axarg BEgel 1 8 43 § S O god & IHeR 3l §,dl ged o & o
136nm2,f36nw

16m cm? / 16m HHI2
2.



91 cm?/ 9 HHP
157 em?/ 153 &2

Correct Answer :-

167 cm? / 16m T2

19)  In two triangles ABC and PQR , AB=QR BC=QP AC=RP then:

ar B ABC iR PQR#, AB=QR. BC=QP, AC-RP &.dn
AACB = AQPR
AABC = ARQP
AABC 2 APQR

, AABC = AQRP

Correct Answer :-
AABC = ARQP

20) There are 30 laddus in a plate. Anil took 3 laddus if 10 laddus remained balance. Choose the
matching equation.

TS orelr & 30@@%lﬁaﬁ§a@ﬁ%laﬁma@wi§@ﬁﬁ
gATId THIGROT &I = |

2Z_10=30
2

L
30—2+10=0

5 2
30+10="

3 2
30—-2=10

N 2

Correct Answer :-

ABCD is a trapezium in which AB || DC. If ar(AABD) = 24 cm? and AB = 8 cm, then the
altitude corresponding the side AB of AABC is .

ABCD U& H#Heed ¢, f5/@d AB | DC 81 I (AABD) & &19%e =24 AP JUrAB =8
T §. @7 AABCHT Ward 379 ABHI F15 B

1. 16 cm/ 16 9t



2.8 cm /8 Y
3.7 cm/7 98
4.6 cm /6 Y

Correct Answer :-

« 6cm/ 69

22
) If PQRES is a trapezium in which PQ||ES and PS=0QF _then:

IfE PQRS U« dHed &, oras PQIRS 3k Ps=QRE. ot

LP=£8
1.

LP= /R
2.

£Q=4£8
3.

£P=4£Q
4.

Correct Answer :-

LP=2Q
23) ; R . :
If @ and § are the zeroes of a quadratic polynomial x* — 3x + 7_ then the quadratic polynomial
whose zeroes are - and = is
o B
- . : = 1 BB g
Ife o Td B EfGEE SgUE x* —3x + 7 & YIS £ A G Uy = g £ a5
gfeara @gug ]l
1 X2 —3x+7

2 Tx?—3x—1
3 7x2+3x +1
4. Tx?—3x+1

Correct Answer :-

7x2 —3x +1

24) The average temperature of Monday,Tuesdav and Wednesday was 75° C, while the average
temperature of Tuesday, Wednesday and Thursday is 77° C. If the temperature on Thursday was

76° C then the temperature on Monday was ———-——-——
mawmmwsﬂiawa:rsﬂﬂﬁmwm T, S AR, FHER
3R TaR & st amAe 770 SfeweE 81 I AR #1 arvAe 760 AT o,

ar §HaR & dradE= |

70eC



g &
4.

Correct Answer :-

70eC

(113)* +(279)3
(113)2-113=279+(279)2

1. 113
2.392
3.279
4. 639
Correct Answer :-

e 392

26) Choose the number divisible by 6. /
6 ¥ fawifora g9 arelt Sen &1 999 F |

1. 2281

2. 2148

3.2186

4.2108

Correct Answer :-

27) Choose the true statement about expression 4a3 — 37bc. /

W 4a3 — 37bc F YaY H HE HYF BT 99 P

1. a, b and c are the three terms of 4a3 —37bc./4a3 —37bc F A UG a,bTdc %"I
2. 4a° and 37bc are the two terms of 4a> — 37bc. / 4a3 — 37bc & T UG 4a° T4 37be %I
3. 4a> — 37bc is monomial. / 4a> — 37bc QEW?&U%I

4.423 —37bcisa polynomial. /4a3 — 37be WE@T&"%I

Correct Answer :-

« 4a3-37bcisa polynomial. / 4a3 —37be WEETTCI%I

28) Find 222222 x 15. [ 222222 x 15 Wﬁl

1.3333330

2. 3333335

3. 3444450

4. 4444440

Correct Answer :-



» 3333330

29) A number is multiplied by 7 and 36 is subtracted resulting to thrice the number itself. Then the number is: /
T G-AT Y 7 | 0T A W 3R ITH F 36 g™ W uRumht T wd o1 i 71 8 ot 2, o S @:

1.9

2.7

3.4

4.8

Correct Answer :-

30) Psycho-motor activities under mathematics deals with: /
T & Siaifa Agel-Aer nfafiftmi _ JwEfm f)
1. All of the above /m@ﬁ?ﬁ-ﬁ

2. Drawing only / Had WD (GIED)

3. Manipulating only / FHad UHad (ﬁ:ﬁgﬁﬁ'ﬂ)

4. Model making only / Had Hrsd fmfor (QTCCTI ffﬁ'l_"l)

Correct Answer :-

« All of the above / ST Tt

31) Using the divisibility test, determine which of the following numbers are divisible by 8? /
fyureritgar st &1 Iudi Hve, Fufia o3 f Fafife 4 3 saftsens @ fukee?

1. 68324

2. 98780

3. 74612

4. 37136

Correct Answer :-

e 37136

32) The term synthesis in the Bloom's Taxonomy is revised as i
=IH & Tifepeur § Jeq WRATO BT F wu A T=Nfa e mar g1

1. Analyzing / [EESLE

2. Evaluating / HedTeh A

3. Creating /ﬁﬂhw

4. Applying / AR DR

Correct Answer :-

o Creating / BELEZE]

33) 11 square pits of side 1 m are made on a plot of land 7 m long and 450 cm wide. What is the area of remaining part of land? /

7 Wiex @a 3R 450 At A2 Y F T g W 1 Wex Yol a1d 11 FTHR T 991 91d & 1 Yfir & Aw R &1 gawa fpa-n 82



1. 304 sq m / 304 THIER
2.9.5 sqm/9.53"'ﬁﬂ€?
3.20.5 sqm/ZO.SW
4.31.5 sqm/31.5 TR

Correct Answer :-

» 20.5sqm/20.5 ftfier

34) "Mathematics is the queen of the sciences and number theory is the queen of mathematics” is stated by: /
i, fagm @Y It ot T Rigid (FraR @) Tfvrd $Y T 817 98 9% gRT el T §:

1. Gauss / g

2. Bell /9§

3. Fischer / frER

4. Bernard Thomas / TS Ty

Correct Answer :-

e Gauss/ g

35) What is the successor of 999992/
99999 B TR TSI FT 82
1. 1000000

2. 100000

3. 99998

4. 99990

Correct Answer :-

« 100000

36) (-123)+132="2

1. 11

37) The graph of the linear equation 5x+3y=-15 is the line which meets

the x axis at the point: /

T THHI 5x + 3y = -15 BT ITE 98 3T ¢ W1 x 3187 A 39 fig o frerdh 2:

C6)
1.



2.(3,0)
3.(0,-5)
4.(-3,0)

Correct Answer :-

38) The fourth vertex of a square whose three other vertices are (3,0),
(0,0) and (0,-3) is: /

T a7 1 <t Wi Jra %, e s 7 < (3,0), (0,0) TE(0,-3) B:
1. (3,3)

2.(-33)

3.(:3,-3)

4.(33)

Correct Answer :-

39) The mirror image of (3,-5) in y-axis is: /
y-3H&l TR (3,-5) FT gUoT yfafaa &:

1.(3,5)

2.(-3,5)

3. (-3,-5)

4.(5,3)

Correct Answer :-

40) Which of the following is the equation of a line passing through the point (12,-13)? /
fFrafafEa % 3 o1 fig (12,-13) F ToRA arelt a1 &1 gt 32

1. 9x+5y=11

2. 7x+5y=19

3. 2x-3y=-63

4. 9x-5y=174

Correct Answer :-

o Tx+5y=19

41) Immediate objectives are stated under ./
AP S5 ¥ offa afdfa &
1. affective domain / HTdTHD T&

2. connective domain / TS T&f



3. altitude domain / =cd (QRCIT‘.‘Q\TS') q&
4. cognitive domain / GIHTHSD T&
Correct Answer :-

« cognitive domain / YT &

42) ABC is an isosceles triangle with AB=7 cm and BC= 13 cm. How many such triangles exist? /
ABC T Hufiarg iy 2, Rread AB=7 9t 3k BC= 13 0 21 ¥R et Pryer g 82

1.2

2.1

3.0

4. More than 2 / 2 ¥ 31f/&

Correct Answer :-

43) Find the co-ordinates of the point P which divides the join of A (3,-1) and B (-3,-4) in the ratio 2:1./
A (3,-1) T B (-3,-4) B Sl aTell @1 P 2:1 P SrJard § fAHTR o3 areht fig p &1 frd=rie wma s¥1

1. (1,-3)

2.(-1,3)

3.(-1,3)

4. (1,3)

Correct Answer :-

44) Find the area of the triangle formed by the points A(0,1), B(0,5) and C(5,4). /
g A (0,1), B(0,5) T C (5,4) g Tf¥fa et 1 Gt 3

1. 8 sq.units / 8 aﬁs’aﬂé

2. 16 sq.units / 16 a”'f'ﬁ'F:FI'sF

3. 10 sq.units / 10 a7 318

4. 5 sq.units /5 aﬁ‘ﬁré

Correct Answer :-

» 10 sq.units/ 10 EITTSWI'&F

45) learn by actually experiencing or carrying out physical activities. /

g W 3HT HA 1 IR il ) w33 @ e 7
1. Kinesthetic learners / TTferoRas R
2. Auditory learners / 40T TRremaff
3. Sequential learners / 3fIghfod fR1emaff
4. Visual learners / €f¥a fRgmeff

Correct Answer :-



o Kinesthetic learners / TfquRes fRremeff

46) The area of square that can be inscribed in a circle of radius 6 cmis ./
SaTiwraawa g, R ¢ St e areh te 99 & siavia Sopiof e s wwan 81
1. 144 sqem/ 144 Tof qeft

2. 72 sq cm /72 & S

3. 81 sqcm/SIﬁﬁ

4.36sq cm /36 aif Tt

Correct Answer :-

e 72 sqcm/723‘f@'ﬂ°f

47) The great school Alexandria during 300 BC was formed by ./

300 $1 Td & GRT HET TR Sreraaiigar T fator P g1 e mar umi
1. Euclid / Jfaq1S

2. Alexander the Great / RidhaR T

3. Pythagoras / UISYRIRY

4. Aristotle / 3IR¥J

Correct Answer :-

« Alexander the Great / FI&ex 98M

48) The centre of a circle is at (-1,3) and one end of the diameter has co-ordinates (2,5), then the co-ordinates of the other end are i

TS T BT % (-1,3) TR & TUT AT FT TP 3id HT H=0b (2,5) B, AgeR eIz | 2l
1
34
2. (_4J1)
3, (0,0)
4 32

Correct Answer :-

. (=41)

49) If the supplement of an angle is equal to itself, then the angle is: /
IS TP P01 T AR W4 S SRR 8, a1 DT 8:-

1. Acute angle / ?EEE-TUT

2. Right angle / S

3. Straight angle / 10T
4. Obtuse angle / 3fIF HI0T

Correct Answer :-

» Right angle / S



50) When learners makes their own definitions, concepts and theorems, they are making ./

e Rrameff sra=ht ufyuren, srauron ok Rigid Wd s § a1 fAffa s3a g1

1. precision /U ?Q &
2. generalisation / IrARAH
3. accuracy / gyrfdr

4. frequence / IRERAT

Correct Answer :-

« generalisation / FHAAHIOT

51) In a singing competition, the points (maximum being 60) allotted to the 15 participants are 60, 52, 42, 40, 43, 44, 46, 46, 45, 42, 41, 40, 46, 48,
and 46. What is the mode of the above data? /

T® T wfaafiraT 7, 15 ufaunfra) @) f3e e siw (SRIEaw 60 B) 60, 52, 42, 40, 43, 44, 46, 46, 45, 42, 41, 40, 46, 48 T 46 & | SRIT AP ST BT IgAD
fpag?

1. 44
2.48
3.42

4. 46

Correct Answer :-

52) Find the odd one out. /
T fawH 31 J1a $

1. Radius / AT

2. Chord / SidT

3. Triangle / YW

4. pPoint / g

Correct Answer :-

« Point/ ﬁi-‘g’,

53) A primary prerequisite for the child's ability to count is: /

= Bt i B e & e v wufie 2 @:
1. None of these/%ﬂﬁ@faﬁgqﬁ

2. Fluency in place value concept / LT HIH YR f[UEITE{%pH

3. Fluency in writing numbers / T AE- o Udlg E?fl

4. Fluency with number word sequence / ST Ueg W%Wﬂmal

Correct Answer :-

« Fluency with number word sequence / T Teg; 3{IhH &1y Udlg Epfl



54) “Curriculum is a tool in the hands of an artist (teacher) to mould his material (the pupil) in accordance with his ideals in his studio (the school)”
was stated by: /

"UTeTHY! TP FATeR (R1ed) F 814 W TP IuH0 @ ol 3P Ffea (e o 39 3exif & quR SUP Arrdt (@) &) el &
@21, g Py TTF gRI BRI AT E:

1. Cunningham :aeiee

2. H. Robert Beck / Td. e 9B

3. Derek Rowntree /éﬁﬁ’—rﬁ

4. W. Walter Cook / S& dlecX Hh

Correct Answer :-

e Cunningham :aeiee

55) Which of the following methods is not advisable for a mathematics teacher since it takes the form of a 'one man's show'?/
e % T Riere ¥ forg Frafafla § @ w0 fify S 78 @ wife g8 o= ot sreu dar |

1. Lecture method / TREAT fafd

2. Heuristic method / M@T;ﬁﬁf‘zl

3. Project method / afearer fafy

4. Laboratory method / aTRITE fafy

Correct Answer :-

« Lecture method / RS fafd

56) The Father of Indian statistic is. ./
YRAT OIS FTd 7

1. Gauss / g

2. S.P. Gupta / Q'Htﬁ'ﬁl?ﬂ

3. P.C. Mahalanobis / 9.5, HeTemifeg

4, Fischer / frER

Correct Answer :-

e P.C. Mahalanobis / ki qglﬁ:hm

57) How many whole number are there between 10999 and 11052? /
10999 T4 11052 F = forasit guf W &2

Correct Answer :-
e 52

58) Anu wants to find the perimeter of a 5 point star shaped polygon drawn by Amal with each side 5 cm. Help Anu by finding the
perimeter of the star. /



3, 3Hd gRT 3GiTPhd fFd T yde 5 it F1 YT 914 5 Wige TR PR & IgY BT URATT JTd AT 9184l 8| TR BT URATY J1d HI
H 37 B weTaar s |

1. 50 cm / 50 It

2. 15 cm/ 159t

3.75 cm/ 75 9t

4.25cm/25 Qe

Correct Answer :-

« 50 cm/ 50 9

59) Consider the following statements: /

1.Whole numbers are closed under addition and subtraction but not under multiplication and division.
2.Integers except zero are closed under addition, subtraction, multiplication and division.

3.Rational numbers are closed under addition, subtraction, multiplication and division.

fFafafaa sy w® R w3

1. S 9 919 & dgd Yol wE 3if &Y &g fbar Sirar 8 U 7on vd fAuTsE #1 % qgd 6

2. I F BISHR IS, U4, UM Ud fIuTer & ded Quife o < forar sirar 31

3. Sits, "eTd, 0N Td fAUTS= & dgd ulay Wenssil i & far wmar 21

1. Only statements 1 & 2 are right. / Had HYT 1 T4 2 W%I
2. Only statements 2 & 3 are right. /PIAHYT2 TG 3 T B
3. All the three statements are right. / i i dU W%I

4. All three statements are wrong. / Tt A pUT 3 %I

Correct Answer :-

» All three statements are wrong. /it S pU 3 %I

60) For what value of 'k’ do the equations 4x — 2y = 3 and kx'+'y'=5 represents two lines'intersecting at a unique point? /

THBRT 4x — 2y = 3 TG kx + y =5 & T a9 foig W ot ufo=sdr Y@reft ot g=iiF & forg "k’ o197+ o= 82

k-3

k#2

k-2
4,

Correct Answer :-

k# -2



